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General Instructions :
Read the following instructions very carefully and strictly follow them :
(i) This question paper comprises four Sections — A, B, C and D.

(it)  There are 37 questions in the question paper. All questions are
compulsory.

(iti) Section A — Questions no. 1 to 20 are very short answer type questions,
carrying one mark each.

(iv) Section B — Questions no. 21 to 27 are short answer type questions,
carrying two marks each.

(v) Section C - Questions no. 28 to 34 are long answer type questions,
carrying three marks each.

(vi) Section D — Questions no. 35 to 37 are also long answer type questions,
carrying five marks each.

(vii) There is no overall choice in the question paper. However, an internal
choice has been provided in 2 questions of 1 mark, 2 questions of
2 marks, 1 question of three marks and all the 3 questions of five marks.
You have to attempt only one of the choices in such questions.

(viit) In addition to this, separate instructions are given with each section and
question, wherever necessary.

(ix)  Use of calculators and log tables is not permitted.

(x) You may use the following values of physical constants wherever
necessary.

c=3x10%m/s

h =663 x 10734 Js
e=16x1019C

Up=4nx 107" T m A~

gg =8-854 x 10712 C2 N1 m2

1

4n80

Mass of electron (m,) = 9-1 x 10731 kg

=9x10° Nm?2(C2

Mass of neutron = 1-675 x 10727 kg
Mass of proton = 1-673 x 1027 kg
Avogadro’s number = 6-023 x 1023 per gram mole

Boltzmann constant = 1-38 x 10723 JK!
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(A 4:9
B 3:2
C) 9:4
D) 2:3
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SECTION A

Note: Select the most appropriate option from those given below each

question :

1. If the net electric flux through a closed surface is zero, then we can infer 1
(A) nonet charge is enclosed by the surface.

(B)  uniform electric field exists within the surface.
(C)  electric potential varies from point to point inside the surface.
(D) charge is present inside the surface.

2. An electric dipole consisting of charges +q and —q separated by a
distance L is in stable equilibrium in a uniform electric field E) The
electrostatic potential energy of the dipole is 1
(A) qLE
(B) zero
(C) —qLE
(D) -2qEL

3. A potentiometer can measure emf of a cell because 1
(A) the sensitivity of potentiometer is large.

(B)  no current is drawn from the cell at balance.
(C)  no current flows in the wire of potentiometer at balance.
(D) internal resistance of cell is neglected.

4. Two resistors Ry and Ry of 4 Q and 6 Q are connected in parallel across a
battery. The ratio of power dissipated in them, P; : Py will be 1
A 4:9
B) 3:2
C) 9:4
(D) 2:3
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(A) 147
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(C) 133
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8. = feu mu forg avf < wehrer & foru foreft i < fisw o steuaw fome™ w0
1 T T8 HH FAT ? 1
(A) &
(B) et @i
(C) e ol
(D) &0 &
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(D) 39 HisA g AT o TATRIc ol Temfua foham = |
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The magnetic dipole moment of a current carrying coil does not depend
upon

(A)  number of turns of the coil.

(B)  cross-sectional area of the coil.

(C)  current flowing in the coil.

(D)  material of the turns of the coil.

Larger aperture of objective lens in an astronomical telescope
(A) increases the resolving power of telescope.

(B)  decreases the brightness of the image.

(C) increases the size of the image.

(D) decreases the length of the telescope.

A biconvex lens of glass having refractive index 1-47 is immersed in a
liquid. It becomes invisible and behaves as a plane glass plate. The
refractive index of the liquid is

(A 1-47
(B) 1-62
(C) 133
(D) 151

For a glass prism, the angle of minimum deviation will be smallest for
the light of

(A) red colour.
(B)  Dblue colour.
(C)  yellow colour.

(D) green colour.

Which of the following statements is not correct according to Rutherford
model ?

(A)  Most of the space inside an atom is empty.

(B) The electrons revolve around the nucleus under the influence of
coulomb force acting on them.

(C) Most part of the mass of the atom and its positive charge are
concentrated at its centre.

(D) The stability of atom was established by the model.
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10. Photons of energies 1 eV and 2 eV are successively incident on a metallic
surface of work function 0-5 eV. The ratio of kinetic energy of most

energetic photoelectrons in the two cases will be 1
(A) 1:2
B) 1:1
C) 1:3
(D) 1:4

Note: Fillin the blanks with appropriate answer :

11. The magnetic field and angle of dip at a place on the earth are 0-3 G and
30°, respectively. The value of vertical component of the earth’s magnetic

field at the place is . 1
12. Laminated iron sheets are used to minimize currents in the
core of a transformer. 1

13. The number of turns of a solenoid are doubled without changing its
length and area of cross-section. The self-inductance of the solenoid will
become times. 1

14. According to Bohr’s atomic model, the circumference of the electron orbit

is always an multiple of de Broglie wavelength. 1
OR
In B-decay, the parent and daughter nuclei have the same number of
1
15. A ray of light on passing through an equilateral glass prism, suffers a
minimum deviation equal to the angle of the prism. The value of
refractive index of the material of the prism is . 1
Note: Answer the following :
16. Write the mathematical form of Ampere-Maxwell circuital law. 1
17. How does an increase in doping concentration affect the width of
depletion layer of a p-n junction diode ? 1

18. The nuclear radius of i;AI is 3:6 fermi. Find the nuclear radius of g;Cu. 1

OR

A proton and an electron have equal speeds. Find the ratio of de Broglie
wavelengths associated with them. 1

Class X1l Science www.esaral.com 9
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19.

20.

21.

22,

23.

The variation of the stopping potential (V) with the frequency (v) of the
light incident on two different photosensitive surfaces M; and M, is

shown in the figure. Identify the surface which has greater value of the
work function.
\Y%

O

v

Why cannot we use Si and Ge in fabrication of visible LEDs ?

SECTION B

Explain the principle of working of a meter bridge. Draw the circuit
diagram for determination of an unknown resistance using it.

The space between the plates of a parallel plate capacitor is completely
filled in two ways. In the first case, it is filled with a slab of dielectric
constant K. In the second case, it is filled with two slabs of equal
thickness and dielectric constants K; and Ky respectively as shown in the
figure. The capacitance of the capacitor is same in the two cases. Obtain
the relationship between K, K; and Ko.

N\
N
|

/ K SR —1 K o | |Ky| b—
G =
d d  d
2 2
(Case 1) (Case 2)

Define the term ‘Half-life’ of a radioactive substance. Two different
radioactive substances have half-lives T; and Ty and number of
undecayed atoms at an instant, N7 and Ny, respectively. Find the ratio of
their activities at that instant.

Class X1l Science www.esaral.com
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O 9
I I
<«—X—> d
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BU 31 hi o o foTe sarstes oo i |
AYAT
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e foptlt p-n Y w1 swfefyres sw & 8, @

(a) BE TR 6 =eTE, A
(b) Tawa g =1 7 fopm yehr gwifaa grar @ 2
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24.

25.

26.

27.

Define wavefront of a travelling wave. Using Huygens principle, obtain
the law of refraction at a plane interface when light passes from a denser

to rarer medium.

OR

Using lens maker’s formula, derive the thin lens formula 1 = 1.1 for a

vV u
biconvex lens.

Two long straight parallel wires A and B separated by a distance d, carry

equal current I flowing in same direction as shown in the figure.

A p B
O O,
I I
<«—X—>

(a)  Find the magnetic field at a point P situated between them at a

distance x from one wire.

(b)  Show graphically the variation of the magnetic field with distance

xfor0<x<d.

Using Bohr’s atomic model, derive the expression for the radius of
n'™ orbit of the revolving electron in a hydrogen atom.

OR
(a) Write two main observations of photoelectric effect experiment

which could only be explained by Einstein’s photoelectric equation.

(b) Draw a graph showing variation of photocurrent with the anode

potential of a photocell.

Explain the terms °‘depletion layer’ and ‘potential barrier’ in a
p-n junction diode. How are the (a) width of depletion layer, and
(b) value of potential barrier affected when the p-n junction is forward

biased ?

Class X1l Science www.esaral.com
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28. (a)
(b)
29. (a)
(b)
(a)
(b)

wus

T Gl b f9.91. 96 (emf) Eq 3T E, A1 39 ATl Tfale ol rq
3 1o & | S 3T UIE GASH i Rt aTer gfata R & @tera foma
STl 8, $Th qed (9,91, 9 (emf) q1 Adies Uty & fIw =9
T HINT | I AT Toh T A Th-gH o FRTAAT L 18 2 |

34 YR B I9 gFl 9 F9dd § R YUl fa.al. §d (emf)
E =5 Va9l Adies Ifalie r=2 Q7, R=10 Q% el Iy & &l
R dieedl Uiehiad hifTg |

fopelt aaTE! gARR Fuec, TEeh! s r qen Wi i wE N ®, 9
gRT (1) YaTfed & T B | 39 Pvsell ¥ Tog Jrhid &9 & (oY =
fofla |

Ig AT foh Y FUSTl ! YZ T H $Heh ohrg I Yo-fog W &
7T foor R o 8 | o5 (x, 0, 0) R 38 FUSHT o HRUT 39 Traehid
&5 % W o ToTu ofeh el hIfT |
arere

forelt eaanfiex < g gnfgar i ufem e ok saeh foe =eie
fRem |
ferell Tiearier =1 wfclia G 37t gaeh! qof JamT foeior w1, 2 |
i) 38 Ted i ®l Iy (Ig > I,) @k hl G101 AT Hebd aTed UHieT |

fpe yehR wftafca fopam S dehat 8 2
(i) 39 UHIeX o1 g9TEl fcg & & ?

30. V =V, sin ot e aa @ freft gfedia R IR ganfa ¢ =1 ooft & gl
fopam T R |

(a)

(b)

(i) gfeg s R AR (i) a1iE o B | RreX dicedr &1 79 9@
Sifer |

IIYFd dieedl 3 9/ & &9 ATl TG I | 398 § i 3
g7

31. fi=fafga v yamaa & o I & feferd v o safaetor il e

AT BT ? 319 I i gfee i |

(a) WRHTAAFTTITATI TR |

b frfEiFdaFomdaigmdme

(¢ @ fzill =1 f5-ferdt & @ < fepe @ mon 2 |
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28. (a)
(b)
29. (a)
(b)
(a)

(b)

SECTION C
Two cells of emf E; and E9 have their internal resistances r; and
r9, respectively. Deduce an expression for the equivalent emf and
internal resistance of their parallel combination when connected

across an external resistance R. Assume that the two cells are
supporting each other.

In case the two cells are identical, each of emf E = 5 V and internal
resistance r=2Q, calculate the voltage across the external
resistance R = 10 Q.

Write an expression of magnetic moment associated with a
current (I) carrying circular coil of radius r having N turns.

Consider the above mentioned coil placed in YZ plane with its
centre at the origin. Derive expression for the value of magnetic
field due to it at point (x, 0, 0).

OR
Define current sensitivity of a galvanometer. Write its expression.

A galvanometer has resistance G and shows full scale deflection for
current I

(1) How can it be converted into an ammeter to measure
current up to Iy (Ip> L) ?

(11) What is the effective resistance of this ammeter ?

30. A resistance R and a capacitor C are connected in series to a source

V =V sin ot.
Find :
(a) The peak value of the voltage across the (i) resistance and

(b)

31. What

(i1) capacitor.
The phase difference between the applied voltage and current.
Which of them is ahead ?

is the effect on the interference fringes in Young’s double slit

experiment due to each of the following operations ? Justify your
answers.

(a)
(b)
(c)

Class X1l Science

The screen is moved away from the plane of the slits.
The separation between slits is increased.
The source slit is moved closer to the plane of double slit.
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32. (a) ANk TorRaeficrar e, qoT 3TUfersh Jraepsiicral u, o TRl geamcrsh
Hieaw § TR skl = % T sk foflen |
(b) FrAfciRgd @ Sw g el fagd-gresh qun % AW R qUieH
qﬁ?l'{f\ﬂf@l:
i) (R Yt § foum =es (Y9-uesH) |
(i)  wHA hI g % J&07 F foTw geeft % IwE H
33. mfwﬁ?aﬁmﬁﬁrmﬁ%,wa-waﬁwﬁhm2§;Xﬁ
eI B ST B |
Y s X+ ;He X
S AINeh, Fafd ATHeh R o0 I S99 Fol U0 =G HAI:
7-8 MeV, 7-835 MeV 3 7-07 MeV & | I8 qa€NON T&d gL foh a4 aren
afa e 3Iqfora TaEeT | &l & aur AR 6 Hoit § IGh! wrfiert 6
JUET LA FU IS o3 ol AT AT HIT |
(0-3RUT <Rl oI = 6-68 x 10727 kg)
34. (a) ToHl IW s & [V Afenefres 6 ggrar 9, ey My e,
Hh! dc dleedT I shl Hifd RIS hl ST hIfWT |
(b) T I S & p- 3R n-HeAshl T RIS HIGT HLH T FT 3L
77
g ug "
35. (a) TRE TR * IWN Hd gL, R BSAT % THEAN AN @O o
AT @I o BRI 396 g § gl x o el fog W fagd-am & foag
ST SYcdd hilTT, Selfch
i) O0<x<R,3W
i) x>R.
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32.

33.

34.

35.

(a)  Write the expression for the speed of light in a material medium of
relative permittivity €. and relative magnetic permeability p,.

(b)  Write the wavelength range and name of the electromagnetic
waves which are used in (i) radar systems for aircraft navigation,

and (ii) Earth satellites to observe the growth of the crops.

The nucleus 235Y, initially at rest, decays into ZSéX by emitting an

92
o-particle
235Y — 231X + 4He + ener
92 90" 2 gy

The binding energies per nucleon of the parent nucleus, the daughter
nucleus and o-particle are 7-8 MeV, 7-835MeV and 7-07 MeV,
respectively. Assuming the daughter nucleus to be formed in the
unexcited state and neglecting its share in the energy of the reaction, find
the speed of the emitted a-particle. (Mass of o-particle = 6-68 x 10~27 kg)

(a) Draw circuit diagram and explain the working of a zener diode as a
dc voltage regulator with the help of its I-V characteristic.

(b)  What is the purpose of heavy doping of p- and n-sides of a zener
diode ?

SECTION D

(a) Using Gauss law, derive expression for electric field due to a
spherical shell of uniform charge distribution 6 and radius R at a

point lying at a distance x from the centre of shell, such that
(1) 0<x<R,and

(ii) x>R.

Class X1l Science www.esaral.com
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(b)

(a)

(b)

(c)

36. (a)

(b)

(a)

Class X1l Science

s fIgd-& THEHH B q1 91TcHS x & &9 H I8 + x T & 3rgfem
HRITT B | T 38 T1Y-T1Y FROMcHh x & & § — x foun & s1qfew =7
THT YIHTO < |1 HRAA 8 | 39 & 1 A1 E = 200 N/C x>0
fTW @M E = - 200 N/C x < 0% T 8 | S8 20 cm 3R B30 5 em
*1 HIS g fafivet x-o1e & orgfew @ R fua ® fo soeh
%5 Yol-feirg W dAT Th HHAA ol x = + 10 cm 3N AT HeAh
x=—10cm™W? |

El'l?faﬁﬁm:
() Taferuet @ gt oA aTel e SfegE wred |
(i)  Taferoet & i Iufesa o 1A | 5

HAAT

freht a1 frgad E & ¢ oofit T, W smm: fm 4 forg amR

2
qlﬁq2%WﬁﬁWW%mmmﬁml

forelt fagera forg oo™ (— ) % SN0 Gufawa 3 Eif=Q qom swehl
foregq-am e fafa i |

+1puC, -1 uC AR + 2 uC % T g e Y H Th-gi ¥ 3=
U W E | 3 Tt e H 10 em Yo % et HHaTg FBrys < il w

T o § fohdT TAT A R IR HITIT | 5

forelt fieariTiiet 1 SRR RraTE! Fugel T Hrid su-3meet % fog

SAeh g SHIfSTT | Fraehid & ohl 3TIT AT ST AT 7 2

forelt -1 &1 10 kV o favaT=at de caiid foham 7o 2 e I8 x-3181 &

I W 8 | T8 y-31&1 o Y HRAA B = 2 x 1073 T % TehadH

Eh & H YA hdT 7 | 38k 9 I B {1 i |

(=301 ST GIAM = 6-4 x 1027 kg SifQ) 5
CPC]

THIhd AN HEEAT ¥ fhedfl S=arlt graBiR i wEifaty Hi

e $ife | fFafaRaa F smen & e sro i

(i) BT 1 hIS Yefrd Bidl & |

(i) U | i (SHIA) o AT TR T IUAT foham ST 2 |
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(b)

(a)

(b)

(c)

36. (a)

(b)

(a)

Class X1l Science

An electric field is uniform and acts along + x direction in the
region of positive x. It is also uniform with the same magnitude
but acts in — x direction in the region of negative x. The value of
the field is E = 200 N/C for x > 0 and E = — 200 N/C for x < 0. A
right circular cylinder of length 20 cm and radius 5 cm has its
centre at the origin and its axis along the x-axis so that one flat
face is at x = + 10 cm and the other is at x = — 10 cm.
Find :
(1) The net outward flux through the cylinder.
(i1))  The net charge present inside the cylinder.

OR

Find the expression for the potential energy of a system of two

point charges q; and q, located at ?; and ?2), respectively in an

%
external electric field E .

Draw equipotential surfaces due to an isolated point charge (— q)
and depict the electric field lines.

Three point charges + 1 uC, — 1 uC and + 2 pC are initially infinite
distance apart. Calculate the work done in assembling these

charges at the vertices of an equilateral triangle of side 10 cm.

Derive the expression for the torque acting on the rectangular
current carrying coil of a galvanometer. Why is the magnetic field
made radial ?

An a-particle is accelerated through a potential difference of 10 kV
and moves along x-axis. It enters in a region of uniform magnetic
field B = 2 x 103 T acting along y-axis. Find the radius of its path.
(Take mass of a-particle = 6:4 x 10727 kg )

OR
With the help of a labelled diagram, explain the working of a
step-up transformer. Give reasons to explain the following :
(1) The core of the transformer is laminated.

(i1))  Thick copper wire is used in windings.

www.esaral.com
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(b)

37. (a)

(b)

Class X1l Science

I 0-1 Q F 20 cm AT HIS =T B8 PQ Ui gfeqte < @
ot T wefEt AAY 3R CC' W fEd B | 98 ©8 37 1efEl | o
Fehdl 3 AT Ig TIEYT THHAH Jrehid & B = 0-4 T 3799 i a1
Tt rereh o Yl o ST @l T ? | AW H Y AR weiEl, B
AT FreehiT & o WO Araaq feumeti § g | afg wefe % fad A
3R C 1 TgUeH e S, dr 5 i

1)

(ii)

3 DS Bl v=10 cm/s % THHAN o & Td HH & [T
AITIH TR &, 3N

TET U % foIu strawes vk |
x A X P X A
2 @ v x
B
C’

39 feufa o fog fopelt @it guaRiss 1 fomr em@ wifay foem stfam
gicfsrs 3= W &9aT § | 39 gaxeh <l fawgd &al & fog suee
ferfeT |

forel Eiicfl qieeie & 3figeas o® i ik gl 20 m 3 g

e 1 ®IhE it 1em 7 |

(1)
(i1)

39 GIGRish o1 HIUY JEEA 1 I |

afC 3@ e H1 I GH Hl @ § fRnm Smar g,
a1 Afgws o | gRI &4 Jfdfers 1 =™ Fa it | fean m=
2 Tor T &1 =A@ 35 x 108 m AT T=gHT hl HeqT ki Ha
38 x 108m%7 |

AT
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(b)

37. (a)

(b)

Class X1l Science

A conducting rod PQ of length 20 cm and resistance 0-1 Q rests on
two smooth parallel rails of negligible resistance AA” and CC’. It
can slide on the rails and the arrangement is positioned between
the poles of a permanent magnet producing uniform magnetic field
B = 04 T. The rails, the rod and the magnetic field are in three
mutually perpendicular directions as shown in the figure. If the
ends A and C of the rails are short circuited, find the

1) external force required to move the rod with uniform
velocity v = 10 cm/s, and

(i1))  power required to do so.

P
x A X X A

X ® —> V X

C/

Draw the ray diagram of an astronomical telescope when the final
image is formed at infinity. Write the expression for the resolving
power of the telescope.

An astronomical telescope has an objective lens of focal length
20 m and eyepiece of focal length 1 cm.

) Find the angular magnification of the telescope.

(i1)  If this telescope is used to view the Moon, find the diameter
of the image formed by the objective lens. Given the
diameter of the Moon is 35 x 108 m and radius of lunar orbit
is 3-8 x 108 m.

OR

www.esaral.com
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(a) B fove fopell Taaet gUUT o ATFH O & | J&01 St W Ig =T Sl
3 T fomm o1 ol wfaforsr s @ 1 wfdfers s qoia & o fomror
m@mwmaﬁmm,%=%+%waﬁm|

(b) iz fome frelt TRq@3Ta ©@ & @mH, &k TeE g58 i ashdl
a1 20 em 8, % WWA 30 cm g0 W E@ B | A @@ % ugred
YT 1+5 8, a1 o fefersr < feafa it yepfa wma Sifsw |
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(a)  An object is placed in front of a concave mirror. It is observed that
a virtual image is formed. Draw the ray diagram to show the

image formation and hence derive the mirror equation 1 = 1 + 1

u v

(b)  An object is placed 30 cm in front of a plano-convex lens with its
spherical surface of radius of curvature 20 cm. If the refractive
index of the material of the lens is 1-5, find the position and nature

of the image formed. 5
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Strictly Confidential: (For Internal and Restricted use only)
Senior School Certificate Examination-2020
Marking Scheme — PHYSICS THEORY (042)

(55/1/1)

General Instructions: -

1. You are aware that evaluation is the most important process in the actual and
correct assessment of the candidates. A small mistake in evaluation may lead to
serious problems which may affect the future of the candidates, education system
and teaching profession. To avoid mistakes, it is requested that before starting
evaluation, you must read and understand the spot evaluation guidelines
carefully. Evaluation is a 10-12 days mission for all of us. Hence, it is
necessary that you put in your best efforts in this process.

2. Evaluation is to be done as per instructions provided in the Marking Scheme. It
should not be done according to one’s own interpretation or any other
consideration. Marking Scheme should be strictly adhered to and religiously
followed. However, while evaluating, answers which are based on latest
information or knowledge and/or are innovative, they may be assessed for
their correctness otherwise and marks be awarded to them.

3. The Head-Examiner must go through the first five answer books evaluated by
each evaluator on the first day, to ensure that evaluation has been carried out as
per the instructions given in the Marking Scheme. The remaining answer books
meant for evaluation shall be given only after ensuring that there is no significant
variation in the marking of individual evaluators.

4. Evaluators will mark( ¥ ) wherever answer is correct. For wrong answer ‘X’be
marked. Evaluators will not put right kind of mark while evaluating which gives an
impression that answer is correct and no marks are awarded. This is most
common mistake which evaluators are committing.

5. If a question has parts, please award marks on the right-hand side for each part.
Marks awarded for different parts of the question should then be totaled up and
written in the left-hand margin and encircled. This may be followed strictly.

6. If a question does not have any parts, marks must be awarded in the left-hand
margin and encircled. This may also be followed strictly.

7. If a student has attempted an extra question, answer of the question deserving
more marks should be retained and the other answer scored out.

8. No marks to be deducted for the cumulative effect of an error. It should be
penalized only once.

9. A full scale of marks 0-70 has to be used. Please do not hesitate to award full
marks if the answer deserves it.

10.Every examiner has to necessarily do evaluation work for full working hours i.e. 8
hours every day and evaluate 20 answer books per day in main subjects and 25
answer books per day in other subjects (Details are given in Spot Guidelines).

11.Ensure that you do not make the following common types of errors committed by
the Examiner in the past:-

e Leaving answer or part thereof unassessed in an answer book.

e Giving more marks for an answer than assigned to it.

e \Wrong totaling of marks awarded on a reply.

e Wrong transfer of marks from the inside pages of the answer book to the title
page.

Wrong question wise totaling on the title page.

¢ Wrong totaling of marks of the two columns on the title page.

e \Wrong grand total.
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e Marks in words and figures not tallying.

e Wrong transfer of marks from the answer book to online award list.

e Answers marked as correct, but marks not awarded. (Ensure that the right tick
mark is correctly and clearly indicated. It should merely be a line. Same is with
the X for incorrect answer.)

e Half or a part of answer marked correct and the rest as wrong, but no marks
awarded.

While evaluating the answer books if the answer is found to be totally incorrect, it
should be marked as cross (X) and awarded zero (O)Marks.

13. Any unassessed portion, non-carrying over of marks to the title page, or totaling
error detected by the candidate shall damage the prestige of all the personnel
engaged in the evaluation work as also of the Board. Hence, in order to uphold
the prestige of all concerned, it is again reiterated that the instructions be followed
meticulously and judiciously.

14.The Examiners should acquaint themselves with the guidelines given in the
Guidelines for spot Evaluation before starting the actual evaluation.

15.Every Examiner shall also ensure that all the answers are evaluated, marks
carried over to the title page, correctly totaled and written in figures and words.

‘11 The Board permits candidates to obtain photocopy of the Answer Book on request

in an RTI application and also separately as a part of the re-evaluation process
on payment of the processing charges. [
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MARKING SCHEME: PHYSICS
QUESTION PAPER CODE: 55/1/1

Q.No. Value Points/Expected Answer Marks | Total
Marks
SECTION A
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